VCE & PDF https://www.passapply.com/ns0-515.html
2024 Latest passapply NS0-515 PDF and VCE dumps Download

PassApply.com

NSQ-5159%As

NetApp Certified Implementation Engineer - SAN, E-Series

Pass NetApp NS0-515 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:
https://www.passapply.com/ns0-515.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest NS0-515 Dumps | NS0-515 VCE Dumps | NS0-515 Practice Test 1/4


https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html
https://www.passapply.com/ns0-515.html

VCE & PDF https://www.passapply.com/ns0-515.html

2024 Latest passapply NS0-515 PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

An administrator is asked to provision a 1 TB volume to hold non-critical temporary data for a seismic-analysis
application. The volume requires the highest possible IOPS.

In this scenario, which configuration would satisfy this requirement?
A. RAID 6 Dynamic Disk Pool with a 256 KiB segment size

B. RAID 5 volume group with a 256 KiB segment size

C. RAID 0 volume group with a 32 KiB segment size

D. RAID 6 Dynamic Disk Pool with a 32 KiB segment size

Correct Answer: B

QUESTION 2

A company has a duplex E-Series system that is operating in a highly tuned environment. Load distribution between the
controllers has been manually set up to achieve a specific distribution based on unique workload characteristics.

In this scenario, to maintain this load distribution over time, which E-Series feature should be disabled?
A. Storage Load Balancer

B. Automatic Node Balancer

C. DNS Load Balancing

D. Automatic Load Balancing

Correct Answer: D

Reference: https://mysupport.netapp.com/NOW/public/eseries/sam/index.html#page/GUID-8538272AB802-49D9-9EA2-
96C82DAD26A2/GUID-90A829B6-ACEE-41C6-8595-91C7D90554EB.html

QUESTION 3

An administrator is asked to migrate two DE6600 shelves into a newly deployed E5760 environment that is configured
with a stack of two DE460C shelves.

In this scenario, how does the administrator complete this task?
A. Cable the DE6600s at the beginning of the stack

B. Cable the DE6600s into a separate stack

C. Cable the DE6600s at the end of the stack

D. Cable the DE6600s between the DE460C shelves
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Correct Answer: C

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2773537

QUESTION 4

A customer is configuring an EF570 system on an internal network. Due to security concerns, the network does not
have Internet access. The customer wants to regularly send standard support data to NetApp.

In this scenario, what should the customer do to accomplish this task?

A. Enable AutoSupport with a set interval and with the store locally option selected, manually move the data to a server
with Internet access, and then send the data to NetApp.

B. Open a support ticket with NetApp to enable AutoSupport local functionality, manually move the data to a server with
Internet access, and then send the data to NetApp.

C. Set up a script to initiate Collect Support Data on a set interval, manually move the data to a server with Internet
access, and then send the data to NetApp.

D. Set up a script to initiate Collect Support Data, remove the extra log files, manually move the data to a server with
Internet access, and then send the data to NetApp.

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2502818

QUESTION 5

Click the Exhibit button.
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Referring to the exhibit, which cable is an InfiniBand 4X connector?
A. 3

B.1

C.2

D.4

Correct Answer: C

Reference: http://www.admin-sys.org/IMG/pdf/Hardware_Universe.pdf
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